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                       _____ Complete with the “verb to be” 

                                                        “in present simple” _____ 

 

Solutions _________________________________________________________________________ 

 Put the verbs in brackets in “present simple”: 

1. You are (be) 12 years old. 

2. My keys aren´t (not be) on the table. 

3. Lisa and Tom are (be) good friends. 

4. Steve is (be) tired. 

5. I am (be) ill. 

6. John isn´t (not be) a policeman. 

7. Is James (James be) scared of dogs? 

8. The weather isn´t (not be) nice today. 

9. This table is (be) heavy. 

10. Is Emily (Emily be) at home? 

 

 Put the verbs in brackets in “present simple”: 

1. My favourite colour is (be) purple. 

2. They aren´t (not be) in English class. 

3. Your hands are (be) cold. 

4. Santi isn´t (not be) in Peru. 

5. Is Toronto (Toronto be) in the US? 

6. Tina and Libby are (be) good swimmer. 

7. Fran is (be) clever than Max. 

8. Lucy and Helen aren´t (not be) bad students. 

9. My grandfather´s house is (be) very big. 

10. Are diamonds (diamonds be) cheap? 

 

 Order the sentences: 

1. room? in Is your box the 

Is the box in your room? 

2. nice. These are shoes 

These shoes are nice. 

3. children are school. at Your 

Your children are at school. 


